SET-A S Maths Classes, Jalgaon

Std: X" (CBSE) Unit Test Marks: 20
Sub: Geometry Ex.:- 8.4. Time: 1Hr
Q.1] Solve the following: (12)
. 2 1—cos6
i) Evaluate: (cosecO — cotf)= = :
1+cosf
.. . . 2 _ 1—-cost
ii) Prove that: (cosec@— cotd) v
1+secA sin?A
111) Prove that: = .
ecA 1-cosA
) 1<cosA
1v) Prove that: %2 —CoséA — cotA .
1+cosA
Q.2] prove the following: (08)

cosA—sinA+1

1) = cosecA + cotA .

CO0SA+sinA~<1

tand cotf

i1) + = 1+ secé.cosect
1-cotd 1=tand
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Q.1] Solve the following: (12)
: A 1+sinA
1) Evaluate: o % = 2secA
1+sinA COSA
.. 1+sinA
11) Prove that: >2 —SecA+ tand .
1-sinA
1+tan?4
iii) Prove that: ———2'= tqn?A
1+cot~A

1v) Prove that:
sec?0 4 cosec?0 ='sec’*Ocosec?6

Q.2] prove the following: (08)

.. sin@-2sin30
1) =tané.

2co0830—cos6

ii) (cosecA — sinA)(secA — cosA =
1
tanA+cotA




